
  



  



  



  



  



  

Should show 3-bond coupling to P



  



  



  



  

Left-click to peak pick



  

Left-click to select cell
Then ctrl-v



  

Continue for all 
(identical) methyl protons



  



  

Select all diagonal cells
Hold ctrl & left-click in cels



  

Group & optimize



  



  



  



  

Oops, optimized to one of the peaks



  

Repick peak



  

copy to diagonal cells (left-click;ctrl-v)
& process

Add additional couplings (from 31P)



  

P8 is coupled to all 9 (identical) methyl protons



  

The methyl protons make 1 group of spins
And there is 1 coupling constant to that group



  

Set all protons to group 1



  

Set coupling constant to group 1



  

Estimate coupling ~7Hz



  



  



  

After “Process”



  

Optimize additional couplings



  



  



  

After “Process”



  

Note lineshape 
mismatch due to 
error in setting 

of one chemical shift



  

Select diagonal cells (hold ctrl; left-click)



  

Group & optimize



  



  

Better lineshape
Good RMSD
finished

Label additional couplings



  



  



  

Type atom name & number
 of additional coupling atom



  



  

Finish with status change



  

Additional coupling 
labeling added to notes



  

Change status to Done



  



  

Choose next spectrum



  

& load



  

Important to save current workspace



  



  

Start next
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